Chapter 13
Aggregate Supply and Aggregate Demand
1) Which of the following does NOT affect potential GDP?
A) the quantity of money
B) the quantity of labor employed
C) the quantity of capital and human capital 
D) the amount of entrepreneurial talent available
E) the quantity of land and natural resources
Answer:  A

2) ________ increases the quantity of real GDP supplied and is shown as a movement along the AS curve. 
A) A decrease in the quantity of money
B) A decrease in consumption expenditure
C) A fall in the expected rate of profit
D) A rise in the price level
E) An increase in potential GDP
Answer:  D

3) Potential GDP
A) increases as the price level increases because firms supply more goods and services.
B) decreases as the price level increases because people demand fewer goods and services.
C) might either increase or decrease as the price level increases, depending on whether aggregate demand increases or decreases.
D) is independent of the price level.
E) never changes.
Answer:  D

4) The aggregate supply curve shifts rightward when
A) potential GDP decreases.
B) the money wage rate falls.
C) income taxes increase.
D) government purchases increase.
E) the money wage rate rises.
Answer:  B

5) If the price level increases from 110.0 to 115.0, the quantity of
A) real GDP supplied will increase.
B) real GDP supplied will decrease.
C) potential GDP will decrease.
D) real GDP demanded will increase.
E) potential GDP will increase.
Answer:  A

6) Which of the following is true?
A) Aggregate supply is another name for potential GDP.
B) Potential GDP increases as the price level increases.
C) At full employment, aggregate supply is equal to potential GDP.
D) Potential GDP decreases as the price level increases.
E) The potential GDP line has a negative slope.
Answer:  C

7) If the costs of production increase, there is 
A) an increase in aggregate supply and the AS curve shifts rightward.
B) a decrease in aggregate supply and the AS curve shifts leftward.
C) an increase in the quantity of real GDP supplied and a movement up along the AS curve.
D) a decrease in the quantity of real GDP supplied and a movement down along the AS curve.
E) a decrease in aggregate supply and the AS curve shifts rightward.
Answer:  B

8) Which of the following shifts the aggregate supply curve leftward?
A) a decrease in potential GDP
B) a fall in the money wage rate
C) a decrease in the price level
D) a fall in the real wage rate
E) an increase in potential GDP
Answer:  A

9) If potential GDP increases, then the
A) aggregate supply curve shifts leftward.
B) aggregate supply curve shifts rightward.
C) real wage rate increases.
D) real wage rate falls.
E) aggregate demand curve shifts rightward.
Answer:  B
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10) The change reflected in the above figure might be a result of
A) a decrease in the money wage rate.
B) a decrease in the real wage rate.
C) an increase in the money wage rate.
D) an increase in the real wage rate.
E) a rise in the price level.
Answer:  A

11) A fall in the real wage rate ________ firms' profits and leads to ________ in the quantity supplied.
A) raises; an increase
B) raises; a decrease
C) lowers; an increase
D) lowers; a decrease
E) does not change; no change
Answer:  A

12) If the price level decreases but the money wage rate does not, then firms will hire ________ labor and the quantity of real GDP supplied will ________.
A) more; increase
B) the same amount of; not change
C) less; decrease
D) more; not change
E) less; increase
Answer:  C

13) The aggregate supply curve is
A) upward sloping.
B) downward sloping.
C) a vertical line.
D) a horizontal line.
E) U-shaped.
Answer:  A

14) Changes in which of the following shifts the aggregate supply curve?
i.	the price level.
ii.	the money wage rate.
iii.	potential GDP.
A) i only
B) ii only
C) iii only
D) ii and iii
E) i, ii, and iii
Answer:  D

15) An increase in the price level leads to
A) an upward movement along the aggregate supply curve.
B) a downward movement along the aggregate supply curve.
C) a leftward shift of the aggregate supply curve.
D) a rightward shift of the aggregate supply curve.
E) neither a movement along the aggregate supply curve nor a shift of the aggregate supply curve.
Answer:  A

16) Moving along the aggregate supply curve, 
A) the quantity of capital used increases.
B) only the price level changes.
C) technology advances.
D) the stock of human capital increases.
E) the real wage rate is constant.
Answer:  B

17) The aggregate supply curve illustrates that the
A) higher the price level, the greater the quantity of real GDP supplied.
B) higher the price level, the smaller the quantity of real GDP supplied.
C) aggregate demand curve is not needed to determine the aggregate price level.
D) price level does not affect the quantity of real GDP supplied.
E) amount of potential GDP increases when the price level rises.
Answer:  A

18) A rise in the price level
A) decreases aggregate demand.
B) increases aggregate demand.
C) decreases the quantity of real GDP demanded.
D) increases the quantity of real GDP demanded.
E) has no effect on aggregate demand or on the quantity of real GDP demanded.
Answer:  C

19) The AD curve is a graph depicting the
A) relationship between the price level and the quantity of real GDP supplied.
B) business cycle during expansions and recessions.
C) relationship between the price level and the quantity of real GDP demanded.
D) relationship between the price level and potential GDP.
E) relationship between the aggregate quantity of real GDP demanded and the aggregate quantity of real GDP supplied.
Answer:  C

20) A change in the price level produces a ________ the aggregate demand curve.
i.	shift in
ii.	change in the slope of
iii.	movement along
A) i only
B) ii only
C) iii only
D) i and iii
E) i and ii
Answer:  C

21) A rise in the price level brings a ________ in the buying power of money that ________ consumption expenditures and causes the quantity of real GDP demanded to ________.
A) rise; decreases; decrease
B) fall; decreases; decrease
C) fall; increases; increase
D) rise; increases; increase
E) fall; decreases; increases
Answer:  B

22) At a price level of 100, John has savings equal to $20,000. If the price level increases to 130, the buying power of John's savings is approximately
A) $12,780.
B) $15,400.
C) $20,000.
D) $26,000.
E) $30,000.
Answer:  B

23) When the price level rises and increases the demand for money, the nominal interest rate ________ and the real interest rate ________.
A) rises; rises
B) rises; falls
C) falls; rises
D) falls; falls
E) does not change; does not change
Answer:  D

24) In the short run, a rise in the price level brings a ________ in the real interest rate that ________ investment, bringing ________ in the quantity of real GDP demanded.
A) rise; decreases; a decrease
B) fall; decreases ; a decrease
C) fall; increases ; an increase
D) rise; increases ; an increase
E) rise; decreases; an increase
Answer:  A

25) A reason why an increase in the price level decreases the quantity of real GDP demanded is that
A) the buying power of money increases.
B) the real interest rate falls.
C) the price of domestic goods and services increases relative to foreign goods and services.
D) the inflation rate decreases.
E) potential GDP decreases.
Answer:  C

26) If there is an increase in expected future income, then
A) the aggregate demand curve shifts rightward.
B) the aggregate demand curve shifts leftward.
C) there is an upward movement along the aggregate demand curve.
D) there is a downward movement along the aggregate demand curve. 
E) the aggregate demand curve becomes steeper.
Answer:  A

27) If firms' expectations about the future become pessimistic so that they think future profits will be lower, then
A) aggregate demand decreases and the AD curve shifts leftward.
B) aggregate demand increases and the AD curve shifts rightward.
C) the quantity of real GDP demanded decreases and there is a movement up along the AD curve.
D) the quantity of real GDP demanded increases and there is a movement down along the AD curve.
E) the aggregate demand curve does not shift but potential GDP decreases.
Answer:  A

28) An increase in government expenditure on goods and services leads to the
A) aggregate supply curve shifting rightward.
B) aggregate supply curve shifting leftward.
C) aggregate demand curve shifting rightward.
D) aggregate demand curve shifting leftward.
E) potential GDP increasing.
Answer:  C

29) A tax increase 
A) decreases aggregate demand and the AD curve shifts leftward.
B) increases aggregate demand and the AD curve shifts rightward.
C) decreases the quantity of real GDP demanded and there is a movement up along the AD curve.
D) increases the quantity of real GDP demanded and there is a movement down along the AD curve.
E) does not shift or lead to a movement along the aggregate demand curve.
Answer:  A

30) Which of the following shifts the aggregate demand curve rightward?
A) a decrease in expected future income
B) a decrease in the price level
C) a tax cut
D) a decrease in the quantity of money
E) a decrease in government expenditures on goods and services
Answer:  C

31) Stagflation is defined as a period when real GDP ________ and the price level ________.
A) increases; increases
B) increases; decreases
C) decreases; increases
D) decreases; decreases
E) is constant; rises rapidly
Answer:  C

32) If the Fed increases the quantity of money, then
A) aggregate demand decreases and the AD curve shifts leftward.
B) aggregate demand increases and the AD curve shifts rightward.
C) the quantity of real GDP demanded decreases and there is a movement up along the AD curve.
D) the quantity of real GDP demanded increases and there is a movement down along the AD curve.
E) both the aggregate demand curve and the aggregate supply curve shift leftward.
Answer:  B

33) One of the influences that the world economy has on K.S. A. aggregate demand comes from changes in
A) world opinion.
B) foreign income.
C) foreign governments.
D) world pollution.
E) foreign aid.
Answer:  B
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34) In the figure above, as the price level increases the aggregate demand curve will 
A) shift from AD1 to AD3.
B) shift from AD1 to AD2.
C) not shift but the aggregate demand curve will change its slope will change so that it is positively sloped.
D) not shift.
E) shift from AD1 to AD3 and then back to AD1 .
Answer:  D

35) In the figure above, the shift in the aggregate demand curve from AD1 to AD2 could be result of
A) a fall in the price level.
B) a decrease in the quantity of money.
C) an increase in government expenditures on goods and services.
D) an increase in taxes.
E) a rise in the price level.
Answer:  C

36) In the figure above, the shift in the aggregate demand curve from AD1 to AD3 could be the result of
A) a decrease in the real interest rate.
B) a decrease in the buying power of money.
C) an increased expectation of a recession that lowers the expected rate of profit from investment.
D) a decrease in the foreign exchange rate.
E) an increase in the price level.
Answer:  C

37) In the figure above, the shift in the aggregate demand curve from AD1 to AD3 could be the result of
A) a fall in the price level.
B) a tax cut.
C) an increased expectation of a recession that lowers people's expected future incomes
D) a decrease in the foreign exchange rate.
E) a rise in the price level.
Answer:  C

38) In the figure above, the shift in the aggregate demand curve from AD1 to AD3 could be the result of an increase in
A) expected future income.
B) the foreign exchange rate.
C) foreign incomes.
D) the price level.
E) aggregate supply.
Answer:  B

39) A change in any component of aggregate demand creates a larger change in overall aggregate demand. This is the ________ effect, and it means , for example, that a ________ in consumption will cause an even larger ________ in AD.
A) multiplier; increase; decrease
B) liquidity; decrease; decrease
C) growth; increase; decrease
D) multiplier; decrease; decrease
E) liquidity; increase; decrease
Answer:  D

40) The aggregate demand multiplier effect says that an initial increase in expenditure plans leads to an induced
A) increase in consumption expenditure.
B) increase in production expenditure.
C) increase in government expenditures on goods and services.
D) decrease in the price level.
E) increase in exports.
Answer:  A

41) If investment spending increases by $1 million, then the aggregate demand curve shifts
A) rightward by $1 million.
B) rightward by more than $1 million.
C) rightward by less than $1 million.
D) leftward by more than $1 million.
E) leftward by less than $1 million.
Answer:  B

42) If the economy is at macroeconomic equilibrium, then real GDP
A) must equal potential GDP.
B) must be less than potential GDP.
C) must be great than potential GDP.
D) might be equal to, greater than, or less than potential GDP
E) cannot be compared to potential GDP.
Answer:  D

43) If the quantity of real GDP demanded is less than the quantity of real GDP supplied, then
A) the economy must be producing at potential GDP.
B) the price level falls and firms decrease production.
C) the price level falls and firms increase production.
D) the price level rises to restore the macroeconomic equilibrium 
E) aggregate demand changes to restore the equilibrium.
Answer:  B

44) If the equilibrium price level is 135 but the actual price level is 120, then
A) firms decrease their production because they cannot sell the output they produce.
B) the quantity of real GDP demanded is less than the quantity of real GDP supplied.
C) the quantity of real GDP demanded is greater than the quantity of real GDP supplied. 
D) aggregate demand will increase to restore equilibrium.
E) aggregate demand will decrease to restore equilibrium.
Answer:  C

45) At a peak in the business cycle, the macroeconomic equilibrium is ________ the level of potential real GDP.
A) greater than
B) equal to
C) less than
D) falling below
E) None of the above answers is always correct because the relationship depends on whether the previous phase of the business cycle had been a recession or an expansion.
Answer:  A
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46) The table above gives data for the nation of Pearl, a small island in the South Pacific. The economy is at full employment when real GDP is
A) $25 billion.
B) $28 billion.
C) $22 billion.
D) $31 billion.
E) $34 billion.
Answer:  A

47) The table above gives data for the nation of Pearl, a small island in the South Pacific. When the economy is at full employment the price level is
A) 130.
B) 120.
C) 110.
D) 140.
E) 150.
Answer:  B

48) The table above gives data for the nation of Pearl, a small island in the South Pacific. If a supply shock decreases the quantity of real GDP supplied by $6 billion at each price level, the new equilibrium real GDP is
A) $16 billion.
B) $19 billion.
C) $22 billion. 
D) $23 billion.
E) $17 billion.
Answer:  C

49) The table above gives data for the nation of Pearl, a small island in the South Pacific. If aggregate demand increases so that the quantity of real GDP demanded is $6 billion more at each price level, the new equilibrium real GDP is
A) $34 billion.
B) $31 billion.
C) $28 billion.
D) $25 billion. 
E) $23 billion.
Answer:  C

50) If the AD curve shifts rightward, then
A) both the price level and real GDP will increase.
B) the price level will increase but no change will occur in real GDP.
C) the price level will not change but real GDP will increase.
D) both the price level and real GDP will decrease.
E) potential GDP increases.
Answer:  A

51) The government increases the level of government expenditure. If there is no change in the aggregate supply curve, then aggregate demand will ________, real GDP will ________, and the price level will ________.
A) increase; remain the same; increase
B) remain the same; increase; increase
C) increase; increase; increase
D) decrease; increase; increase
E) decrease; remain the same; decrease
Answer:  C

52) The government passes a law which doubles the wages of all workers. Aggregate supply will ________, and real GDP will ________, and the price level will ________.
A) increase; remain the same; increase.
B) remain the same; increase; increase.
C) increase; increase; remain the same.
D) decrease; increase; increase.
E) decrease; decrease; increase.
Answer:  E

53) An increase in the price of oil ________ aggregate supply, shifting the aggregate supply curve ________ and potentially bringing the ________ phase of the business cycle.
A) decreases; rightward; expansion
B) increases; rightward; recession
C) increases; rightward; expansion 
D) decreases; leftward; recession 
E) decreases; rightward; recession 
Answer:  D

54) If real GDP is greater than potential GDP, then to restore equilibrium ________ and the price level ________.
A) the aggregate demand curve shifts leftward; rises
B) the aggregate demand curve shifts rightward; falls
C) the aggregate supply curve shifts leftward; rises
D) the aggregate supply curve shifts rightward; falls
E) potential GDP increases; falls
Answer:  C

55) During an inflationary gap,
A) real GDP is less than potential GDP.
B) the aggregate demand curve and the aggregate supply curve intersect at potential GDP.
C) the aggregate demand curve and the aggregate supply curve intersect at a level of real GDP that exceeds potential GDP.
D) the aggregate demand curve and the aggregate supply curve do not intersect.
E) the price level will fall to restore the long-run equilibrium.
Answer:  C

56) If real GDP is less than potential GDP, then the ________ and the price level ________.
A) aggregate demand curve shifts leftward; rises
B) aggregate demand curve shifts rightward; falls
C) aggregate supply curve shifts leftward; rises
D) aggregate supply curve shifts rightward; falls
E) amount of potential GDP increases; falls
Answer:  D

57) If the aggregate demand curve and the aggregate supply curve intersect at a level of real GDP less than potential GDP, there is
A) a recessionary gap.
B) an inflationary gap.
C) a rising price level.
D) a falling real GDP.
E) an above full-employment equilibrium.
Answer:  A
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58) According to the figure above, which point or points correspond to full employment?
A) only point a
B) only point b
C) only point c
D) points a and b
E) points a, b, and c
Answer:  D
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